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1. Consider an annuity of equal and yearly payments of amount | whose
first payment occurs at year 4 and whose last payment occurs at year 7.
Then, consider a perpetuity of equal and yearly payments of amount
Ry whose first payment occurs at year 10. Let the rate of (compound)
interest be i. Let 174 = 1000, Ry = 200, and i = 10%:

e Find the value w(R1. 0) of the annuity at year 0

e Find the value w(Rs, 0) of the perpetuity at year 0

e Find the value w(0) of the annuity together with the perpetuity
at year 0

o Find the value «(7) of the annuity together with the perpetuity
at year 7
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